YR 284E11H28H~11H 3084 (250 5L E)

HREES ITE-X5-mA4 B HASE - EALEE AMLA IHE | THE
B 5528255  |4E/INERMAREE LE BB L B BHET 499 —1 MY 3,186,000 |EB MR (k) 2016/11/29| 2016/12/1| 2017/2/28
Bk 8828-1225 |fK\IE R FIEREFERLE BB LT\ BHT T B HE AN 5,184,000 | (#%) R LER 2016/11/30| 2016/12/2f 2017/2/28
BB 528-210% | IHBRRERE B L Py 4,860,000 | OB LRBE=TAY ] 9016/11/30| 2016/11/30)  2017/3/17




AMLBAT — & X

% & F 5 B# #528-25%5
T ¥ 4 B/ N KA TF
T % lfaI % B BT R SETHPE499—1  HIN
T # TR28412H 1H b YERK294 2H28H
AFL#AITHE A H k28411 H29H
% L * BB A (BR)
iE A & # ¥3, 186, 000 1§
F OB MO ¥3, 326, 400 1
e X4 K F1EHE M | EF2EEBM | F3EmE @ | H B
(BR) ERLE3%0E
3, 420, 000
(BF) HILER
3, 200, 000
ERETX (B ,
2, 950, 000 HRE
F\) aEz=—RLr—Tav
7 3, 380, 000
(H) IrkpEZE
3, 400, 000
(BR) B/ BpEE
_ FER
(B) afmB g
3, 300, 000
(BR) KvE#
3, 290, 000
(BR) B Rk
3, 250, 000
W &R (BR)
‘ 3, 270, 000
AT T3 (BR)
-3, 150, 000

N1




AT — ' X

B 28255

=2
T *= % Al NERGH K RELE TF

T M T % 7| BSR4 —1 M

T 8.1} ERk284E12H 1B b FRK29% 2H28H

AW EBITHE A H ERR28411 H29H

% FL F | EBETR KR

7 ﬁ & H ¥3, 186, 000 [
T E M % ¥3, 326, 400 1
ME X4 R HFI1EE M H2HE @ | £3EE @ | #H &
(F) EHEH
' BEIR
) &A1 =— EHEEER
33158
N2



AR BAT — E X

% & & 5 Bk #28-122%
T F 4| EANE R OERESHERTE
T % i T % Bt LT J\IBET THE-#1F  #N
T # TR28F12A 2B b FH294 2/ 28H
AL ITHE A H SERR284E11 H30H
% L # (BR) BLEX
O A & ®| ¥5, 184, 000 [
ﬁ‘? E Ol ¥5, 380, 560 [
[ E S FBIEHAE@M®E F2EHE @@ H3EE @ | H
(FF) BBEEX .
| 4, 800, 000 RIE

HAZF=F (#R) KREX
P 5, 220, 000
() /—e5v%

5, 300, 000
YTy 7 (BR)

5, 200, 000
7 AZX (BR)

5, 180, 000
BR) =27 b KKBXJE

5, 000, 000

(BR) FPHEBRIKE.

4, 860, 000




AT — B R

P
*
h
B

B 5282708

‘;&
™ | a

TE R

B

% pBr

BB LA

1)

Ei |

2811 H30H 26 k294 3A17H

S
[

B AT A H

ERk284E11 H30H

L *H

(BR) BIH LE#EREa vz b B LEER

=N P I

# & B|

¥4, 860, 000 [

e XX 4 K F1EE @ H2@EE ) | F3HEE @

#R) ==F BEEED

5, 000, 000

#) 71427 NiEEZER

4, 700, 000

(BR) ®WiH LEZE =%

v BB EEERT

4, 500, 000

RRE

W) BiRa s b R

(
EEA

4,700, 000

KAz (BR) BLE

FEPT

4, 750, 000

(#R) =Rar g b B
EX4t

4, 700, 000

R T V=T TR

B AT

4, 750, 000




